asta+ BbiroagHbIW
CTOPUC

AAaHHbIN NakeT pa3paboTaH
NOBbLICUTb CMIPOC N
ocBeAOMJ/IEHHOCTb
peksiamogaTtesnien 0 CTOPUC:E

1 pasmeLyeHue = 4M nyé6nuk
ctopucB G, FB, YT, TT




at

Hew)

. Basi

1 pasmeLyeHue = 4 CcTo

5 pasmeLyeHun - 5000c.

Ckmnpaka - 12500c

LleHa 1 ctopuc = 250c
O>Xxnpaembiy oxBaT - 18 TbiC. C 1 |




3 Stand

1 pa3smewieHue = 4 cto

8 pasmewyeHunn - 7000c.

Cknpka - 21000c
LleHa 1 ctopuc = 218.75cC

O>Xxnpaembiy oxBaT - 18 TbiC. C 1 |




aSva+t

1 pa3smewieHue = 4 cto

12 pasmeLyeHum - 9000c.

Cknpka - 33000c
LleHa 1 ctopuc = 187.5cC

O>xnpaembin oxBaT - 18 ThIC. C 1




